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1B g A yd J1aw JS) (ddaie (pe )L N) A g gadt) AL -Y of

1- If the electronic configuration of some o2 9 I W e OIS 13 -
cations of transition elements: AIEOY poliall Gl 4alS

A¥ [ Ar],3d® , B¥:[.Ar],3d

Which of the following processes easy to | Sl g Jguns AL Sldeatt (g
takes place:

@ Reduction of (B”) to (B“) (B*") LM (B7) gty @
(® Reduction of (A%) to (A*) (A¥) (AT gzl ©
@ Oxidation of (BZ*) to (B“) (B*) 31 (B?") 3uwsi @
@ Oxidation of (A3*) to (AS*) (A%) S (AY) suwsi @

2- From the following graph: s AL L) IS (o - Y
319t AMladal) Aoe 8

The Effective
Nuclear Charge

A

| | A A puolic
— : > Elements of an
X Y Z w Transition series

Which of the following choices is correct? | $asou A5% OiHLasaYi gla

@ element (Z) is less density than element (W). | (W) yuial yo 25LS J81(Z) puaial! @

@ element (Y) is less density than (Z). (Z) puiall (yo 2L 31 (Y) yucrial! @

(© element (W) has highest Ionization | o=l agr el (W) uatatt @)
potential than (X). (X)) puciall (o

(@ element (X) has highest Ionization 02l g el (X) paiatt (3)
potential than (Y). (Y) juciadl (o
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3- The processe that take place on product from | cadaiizgiig e @8 i Sldaat! -¥

cleaning high furnace to produce Inter Stitital | e Jsas adlatl oi,a¥!
alloys in sequence: ... i oty e G Ao
@ concentrating - oxidation - reduction. I - BawsT - 58,3
@ crushing - reduction - steel production. | .ciualizlo| - Ji5isl - s

@ sintering - reduction - steel production. | .cdualf zLs| - Jiyis ! - wuls

OO®OO

@ crushing - roasting - reduction. JIFS - et - S

4- The silicon steel is one of the alloys that AWl ASiw (e Jiamd - £

formed by mixing silicon, chromium and steel. | a9 g aSudud ! dalsey 39St

This alloy is considered from ... s s Jaid icdalt dadsd i g

@ Substitutional alloy only. ~dadd dd it Ao @
(b Interstitial alloy and intermetallic alloy. | & i 2Semug A 2Sew @
@ Intermetallic alloy only. ~dadd Ay aln A @

(@ Interstitial alloy and Substitutional alloy. | &l 2w s & S
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5- Which of the following processes occurs | &uosd aAG¥ Oldeat! i -0

to the iron II oxalate respectively to oy I coastt OYLws oY

produce iron? ORI i [ PO EN |

(@) Oxidation - reduction - thermal I - Jizast - sawsi (1)
decomposition. Sl

(b) Thermal decomposition - oxidation - |~ 3-usT— g5l I3 @)
reduction. s

@ reduction - oxidation - thermal I — BuwST - I3 @
decomposition. R PN

@ thermal decomposition - reduction - = JU5E - )l I @
oxidation. B

6- All the following reactions occurred at g Al b @ Al O e latt -1
suitable conditions: sLgd Aewlied!

c Aigle 5 ynsi 4 v "' _ | Yellow Precipitate does not Disolve in (NH;OH)
olouried Vapour| <€ > (NH4OH) ‘?a «,U.'.\e Y)Z:.m; ot

¢ Al B st

The Solution of Coloured Vapour

sl S92
Colour Disappeared

Then the compounds (1) , (2) and (3) are: ... ‘ er 108 (3)(2) (1) OIS yatt 312
@ (1):AgNO,, (2):HCI, (3):Na,SO,
(® (1):K,PO, (2):HBr, (3):Na,S0,
© (1):AgNO,, (2):H,S0,, (3):Na,S,0,
@ (1):Na,PO,, (2):HI,  (3):Na,SO,
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7- A solution its POH = 11 is added to two 43 (POH) aad Jgloe sl -V
indicators (X and Y): notice that (V) «(X)omstets A1 11 ol
1P Y dax gld
(X) : colourless. . X
(Y) : red colour gV il
: r .. .Q}.L"J-&#;‘ : (Y)
so the two indicators (X)), (Y) are: ... ven1Lea (Y) (X)) ol oo
@) (X) is phenolphthalein, co—daty e (X) (7))
(Y) is methyl orange. & et 2 (Y)
(® (X) is phenolphthalein, ity (X) (©
(Y) 1s bromothymol. Jaeigng itz (Y)
(©) (X) is methyl orange, A et - (X) (D)
(Y) 1s litmus. oueddtsle 1 (Y)
@ (X)is litmus, cpeitiale s (X) ()
(Y) 1s bromothymol. Jgesigag,dt: (Y)

8- Which one from the following salts e OS2 LGY MY o gl -A
forming mixture of gases on adding HEGT JX [T TP (RS OPS
concentrated sulphuric acid to it? SO (e
@ Potssium carbonate. gl gy Ol ga ,S @
@ Potssium phosphate. Aol g Olaw gd @
(©) Sodium chloride. psa350 wysls (D
@ Sodium bromide. P33 G0 e gy @

[4]
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9- The following table for some chemical OLS pall yaad LSW Jgumtl -4
compounds: s AilausI!

A B C D

AI(NO,), | FeSO, |NH,OH | HCI

Which of the following choices is correct? | $asuoe AG%1 S HLas ¥ (po sl
@) (D) detect anion of (B), anion of (A). | (B) vssipe aas; D) (7)
(A) Osly
(&) (C) detect cation of (B), cation of (A). | (B) 0518 ye 2isy (C) (L)
(A) sy
(© (A) detect anion of (D), anion of (C). | (D) 0ssioe 2iss (A) &)
(C) uaely
(@ (B) detect cation of (C), anion of (D). | (C) 0ssIs e 2y (B) ©)
(D) sl
10- From the following scheme: T dakasatt ya =\
gas (X) ;. Salt Na, SO, solution gt
l solution l
e Jolowe
Black PPt. +(B) St Gty White PPt. (A) gaui cus
+
acidic solution i gyt alkaline solution gue(s Jsioe

The white PPt. (A), black PPt. (B) and | w1y (A) pan¥i w31 oo

gas (X) are: :ed (X) 3Lt g (B) agu
PPt. (A) cewt PPt. (B) cwt y gas. (X) ;&
@ Ag SO, AgCl HCl
® BaSO, BaCl, HC1
@ PbSO, PbS H,S
@ CuSO, CuS H,S
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11- In the following equilibrium reaction: AL O ket Jelaidt Lo =\ )
A, +B, = 2AB
(2) (2 (2

if the rate formation of AB gas is equal | AB L& 0955 Juas oIS 130
(3L/sec) at (25°C). -(BL /sec) solwn at(25°c)
When the temperature of reaction is Je a8y ) a3 2 e
increased to (45°C), the rate formation of | (=85 Juas OLa (45°C)
AB gas is equal ... - Gobus AB L2
@ 12 L/sec

@ 6 L/sec

@ 5.4 L/sec

@ 9 L/sec

12- In the following equilibrium reaction: P LS et Jelaid B -\ Y
4NH, +30, = 2N, +6H,0
3(g) 2(g) 2(g) 2 )
adding a few amount from mixture da s e B A Bl Ll
(O, +2N, ) to the previous Gralidel (O, +2N, )
(2 (8) 2 (9) 2(0)

equilibrium reaction, so reaction is cee 10l B dadiiy A8 Galud!
activated to: ...

@ forward and [ NH; ] is increased. ([ NH, ] stsju5 3,1 @
@ backward and [ O, ] 1s descreased. 10,1 Jasy usalt @
@ backward and [ NH; ] is increased. [ NH, ] 513529 ruSalt @
@ forward and [ N, ] is descreased. N, ] dag s latt @

[6]
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13- (A and B) are two salt solutions, when e ((pumle ¥gtma (B)(A) -\YF
the metyl-orange is added for each one IS e el J glove 28Lis!
individually. ) 2 .

.3 Logio JS !
- The colour of indicator changes in the A = "h ) .""J
solution (A) into red. (A) slos B sl it -

- The colour of indicator does not change Samblitel
in the solution (B). (B) Jglone 2 drg) juain ¥ -

Which of the following is correct for Lo AGW1 O (i

(A) and (B)? $(B) (A) S ity

(@ A:NHNO, , B:NaS
(® A:(NH,),SO, , B: KNO,
© A: K,CO, , B: NaBr
(@ A:Na,CO, , B:NHHCO,

14- In the following equilibrium reaction: | (A ket Jelaid o -V ¢
N,H, = N, +2H, +heat ke =0.04
2 g 2@ 2 e ©
if [N,H,]=0.IM , [H,]=02M 1 O Ceale 13}
So [ N, | after increasing temperature [NH,]=0.1M.
[H,]=02M.
becomes: ... D 2N .
Axpadyaie [ N | s
oo 1S9k 351yt

@) 0.08M
® 02M
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15- In the purification cell of chromium P9 S (yo Woe AaiG Als B -\ 0
contains impurities (X) and (Y) (Y)(X) cblgd e gsimi
We notice that precipitations of (X), (Y) | o2 (V)¢ (X) coru,s das gl
in the bottom if backer after complete e g Auaii aled ey sLiX 1613

purification, and the colour of (X) salt Jstoo 8 (V) aiall pny
solution is changed on adding element Osd iy (X) pmciall mle

(Y) to it. -J gl
The right arrangement of oxidation 292 M oo, oLa
potential (Cr), (Y) and(X) is ... z(Cr)‘(Y).‘(X) -~
@) Y<Cr<X
b Y<X<Cr
(© X<Cr<Y
@ X<Y<Cr

16- The following equations represents the O el AL O¥slactl -4 %
reactions of two half electric cells: PIPOLY W PRI P

2Ni*" +2e¢ — 2Ni** , E°=+0.898 V

Cd* +2¢ — Cd° , E°=-0402V
Then the non spontaneous oxidation s SAWSHI Jeolai Lo
reaction which occurred in the cell is: ... .r 198 A B ALl

@) Cd*— Cd*+2e , E°=+0402V
(® 2Ni** — 2Ni** +2e~, E°=-0.898 V
(©) Cd* +2¢e—Cd* , E°=-0.402V
(@ 2Ni** +2e” — 2Ni**, E°=+0.898 V
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17- The following two Figures are represented | cmiedss oMies oL oUSEY -\ Y

two galvanic cells: ¢ i Lt
_/"@\ _/)'@“\¥
(A)—+ | (5volty f+—(B) (C)———+ | @voiry | +——(B)
if Both (A,B) divalent. (C) trivalent S0 (B) ¢ (A) goe NS o ciale 131
so the cell diagram for galvanic cell Fa5 ol als (30 (C) 9 Gals

WigSall Adlalond! Atintd o> M|

formed from elements (A), (C) is ...
ce 38 (C) (A) apaialt (ya

3+ 2+

® 26 l2c a2
2+ 3+

® 3a,| 3A(aq)|| 2c(aq)| 2C,
3+ 2+

© 21,247l lac,

2+ 3+
@ 3¢, 3C aq)|| 2A(aq)| 24,

18- In the galvanic cell Which illustrated by | assgadl dolatntt adstt 2 -\A
the following diagram: AW o Mo e 0

2+ 2+
Zngy | Zn* o) || PD* ) | POy
on adding drops from (HClaq) to both half cells. HCl(aq) O Ol plad Wals| e

which of the following choices is correct? TS Gaad (g JS T
$ Lo s oL Lao slo
@ increase conc. of (Pb2+(aq)) ions. ,Pb2+(aq) ol gl 8 53 31330

@ emf value for the cell increase. sy emf aed sia 33
@ time for consuming battary decrease. | i iadi W Mgiul (o) Jas

2+ : :
@ decrease conc of ( Zn aq) ) ions. , Zn2+(aq) Ol gl 38,5 Jas

OO®OO

[9]
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19- In lead acid battery during discharging o ddaalnd | olio 1 dllay 2 =14
process the following data are recorded: | ! sLisl oY QLLL Lo
The potential of the anode = +0.36 V + 036V = s93¥1 aga
The potential of the c.athode = +13.69 \Y% +1.69V = 35518 g
The hydrometer reading : 1 g/cm 12/Cm3 = yiag gl 351,38
So this battery: rAgyllad) EUS ol
@ completely charged and the battery alladiy (mddl dlels @
produces 12 volt. 12Volt g

@ required to be recharged, and the battery | “ulkadly poidisle ¥zl @
produces 2.05 volt after recharging. it aas 2.05Volt g

@ completely charged and the cell ATy (it Alels @
produces 12 volt. 12Volt geis

@ required to be recharged, and the cell | &ty ididsle ¥zl @
produces 2.05 volt after recharging. Ot aas 2.05Volt g

20- The standard reduction potential for ioliall Al J1us Y sggs - Y
elements (X), (Y) and (Z) as shown in  Jgaadt o LS (Z)«(Y)(X)

the following table:

elements oLt X Y Z

Standard reduction potential

-0.28V | +1.2V |-1.029V
JIFsY ag¢>

Which of the following coatings is the | ¢ ,—u¥f adts Oiie als u..@
most corrosive for coated metal when | § 5us e laalt jalt SSTS
scratching?

(@) Plating element (X) by element (Z). | (Z) juaialls (X) yuaiall s3k O
@ Plating element (Z) by element (Y). | .(Y) juaialls (Z) paialt S @
@ Plating element (Y) by element (X). |.(X) juaiatli (Y) yuaiall Sl @
(@ Plating element (X) by element (Y). |.(Y) juatatls (X) yusiall 53k ©)
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21- The monomer of the following polymer | 095 AL ,odgd! 09390 -Y

is considered as isomer to: ... e 198 Syl gl

H H H H H H

| | | | I l
—C—C —C—C—C—C—

| | | | I |

H CHy H CHg H  CHg

@ Cyclo propane. il Olig @
@ Cyclo butane. il g

(© propane. Obin O
(d propene. e

22- If you know that the concentration of Jodome j=€,5 ol Ceale 13f =YY
methyl amine solution CH;NH, is 92 CH3;NH, el Jticalt
(0.4 M) and its pH =9 pH =9 iy «(0.4M)
Then , the value of K}, for the compound | 5500 oo oy K Aesd old
at 25°C equal ... oo Golud

@) 2.5x10718
® 2x107

(© 4.47x10°%

@ 2.5x10710
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23- Three organic compounds from O dugaae OLS,e M -YY
hydrocarbon derivatives. 0L 93,8 9 gl Colaidin
The compound (A): can not be oxidized. | .5uus¥ Ja ¥ (A) S ol
The compound (B): can not form Lailsy 09Ss ¥ (B) oS pal!
hydrogen bonds between its molecules. A3l (i Feen g yoked
The compound (C): can not react by ALY Jelins ¥ (C) oyl
addation. R = v A )
Then, the compounds (A), (B) and (C) ). (By(L) uk‘sﬁ‘ﬁi‘:
are: ...

(@ (A): C(CH3)30H , (B) CH3-O-CH3_ (C) C3Hs5(OH);
(® (A): C3H7COOH, (B) C,H50H, (C) CgHsOH

0
© (A): CZHSy}CH3, (B) CH,COOCH, , (C) C,H,OH
@ (A): CH3CHOHCH3_ (B) CH3-O-CHj, (C) C3Hs(OH);

24- The correct name for C,H, S roll zowall @) -YE
the previous compound | ALY Cows Galwd
according to IUPAC CH; — CH - C,H; ee 98 ETLiga¥
system is ...

@ 3-methyl-1-pentene. oo = 1 Jde - 3 @
@ 2-methyl butane. O g Jus - 2 @
(©) 2-ethyl butane. Obgo Jenl-2 @
(@ 3-methyl-4-pentene. iis-4 diwe -3 ()
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25- The general formula for some kinds of paad oY deladl frall -YO
hydrocarbon derivatives are: ... cee 1 O 935S g yutcgd ) Siliidie

(A): CHp, 0, »(B): CHy, 1, O,

Which of the following choices is correct? $ oo hug‘_,tg Lee s

@ (A) dihydric alcohol , (B) carboxylic acid. | s gyig?! LS Jg=S = (A) @
(S 33,8 paes : (B)

@ (A) carboxylic acid, (B) dihydric alcohol. (S 918 yas> < (A) @
JausS g )l LS JgS + (B)

(© (A) Ester, (B) carboxylic acid. Sl () &
(S 3,8 pas> : (B)

@ (A) Ester, (B) mono hydric alcohol. ] 1 (A) @
S gyl g3kl J98 + (B)

26- In the following equilibrium system: LI O et | allaidf 8 Y
K,CO 2H,0 =2K" +20H  +H,CO
SO R (aq) (a) 27 (aq)
On adding drops from CaCl, solution | Jsl>w cpe Ofplad A8l Lie
to it, So the system proceeds ... iy AR 518 4y CaCl,
coolaxa (B
(@) forward and solubility ailigh 31339 (g3 lat !
of K,CO; increase K,CO,
(b) forward and solubility aolygs Jaiy ol (Q)
of K,COj; decrease K,CO,
(©) backward and solubility ailig 313 g rusall
of K,CO; increase K,CO,
@ backward and solubility wiligh Jayg usall @
of K,COj; decrease K,CO,

CCP/0 0 Joll joaJl — s alpol) ulihl) & A nj



YoT XYY aal 501 aladt - T 981 5 gl - (At 3oy ¥ AR 5 LeasH - Apalalt Acalidt - Aolall Ay g3 Al 5ol ALEH B3lgs lnclal

27- Dry distillation for sodium salt of citric | e gall mlell Glotl ydagitly -YV
acid with soda lime produce: ... Gagaall ) gos by i | e
@ propanal. Jblig @
(b) propane. Sbatt ©
(©) 1- propanol. Jebgm-1 &
@ 2- propanol. Jebigm -2 @
28- From the following table: (S Y Jgundl (po = YA
The compound s 541 A B C
Solubility in water At 25°C| Soluble | Insoluble |sparingly soluble
25°C e slall 3 pbogla o, ooy | ObgMizima
Then the compounds (A), (B) and (C) are: |:ca(A) «(B) «(C) CILs yatf 55
@ (A): ethene ; (B): benzene , coapa s (B)e ol (A) @
(C): carbolic acid. L g ySI yass : (C)
@ (A): ethene , (B): carbolic acid , (el g S e (B) il (A) @
(O): cyclo- hexane. il olusa : (C)
@ (A): isopropyl alcohol , (B): ethene , | (sl :(B) ¢ plagpsil Js8: (A) @
(C): carbolic acid. 31,801 paes : (C)
@ (A): ethyl alcohol , (B): acetic acid , | «dbamdijae : (B): plisl Jg8 : (A) @
(C): cyclo-hexane. i olusa + (C)
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29- The following steps takes place to o AGY! Siglastl (pae JE -4
convert compound its general formula ldeo S o Jgid Loyl |
is C,H,,.» To compound its general s AL Gy aslatt
fermula C H,, except: e Lo -C H, aolatt dias
(@) Stronge heat then quick cooling - aartiy wa e (1)

polymerization - hydrogenatien. g — 5ol — po
@ Reforming - alkylation - - st - sas salel @
hydrogenation. PRV
@ Halogenation - al kaline hydrolysis - | - gucld Ji=i - it @
delydration. sle g3
@ Strong heat then quick cooling- dorBy dd (el @
Catalytic hydratien - readuction. - Anpas Syl - o yw
Iy
30- From the following scheme: st dalainatt (oo =V
Hx AICI; anhydrous
CaHs -[(A) ] —222 L [(B)
+ CeHe
So both (A), (B) are: ... el (B)o (A) 5o 3 i2
@) (A) Sec. propyl chloride, S dge S : (A) (7))
(B) 1- phenyl propane. Oligy duid -1 (B)
(® (A) Primary propyl bromide, (A9l g dang e (A) Q
(B) 1- phenyl propane. Oligyded -1 (B)
(©) (A) Sec. propyl chloride, P Sy 298+ (A) D)
(B) 2- phenyl propane. Obgp Jud -2+ (B)
(@ (A) Primary propyl bromide, (ol dram s (A) (D)
(B) 2- phenyl propane. Olbgm Jwd -2 ; (B)
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31- From the following scheme:

| LY dalaseetl e ¥

CH,
alkylation CH
C7H16 Pt / A A #) B + 3
complete ox
-2H,0
C |« wsbsuusi

Which of the following choices is correct?

(A) is used to prepare benzoic acid,
(C) primary substane to prepare bakelite.

@ (A) is used to prepare explosive,
(C) primary substance in the
manufacture of artificial heart valve.

@ (A) aromatic acid, (C) primary
substane to prepare dacron textile.

(@ (A) aliphatic hydrocarbon,
(C) Aromatic Carboxylic acid.

§ Ao ALY O LAY sla
0 il gldale +(C) wligiid!
CSL s

i 3 pasis (A) ()
‘,5 2\._5!3;‘ dale (C) (| pomdiad |
e lal | Cdall Slolews g

aale (C) 4‘_,3\.49_9)]0'46:- (A) @
.Qjﬁ‘.ﬁ‘&uulﬁfa:ﬁué@ﬂ

(C) e g S5 pa8 :(A) (2)
(PAbeg) euS 31)S e

32- Which of the following processes

Takes place on mono basic carboxylic

acid to Cenverl it to neutral Compound

contain same number of carbon and

oxygen?

@ Complete reduction - dehydration -
oxidation.

neutrelization - dry distillation -
halogenation.

Complete reduction - dehydration -
Catalytic hydration.

Esterfication - alkaline hydnlysis -
dry distillation.

o ASY) Sldeall e (T -YY
S 52,8 paes e gl
Al abigdd dnaelall ool
Siyd due (wdd da Jalalie CS o0
§09,SI g (pumuS Y|
elegr-pigiEst ()

RN
®)

— ol dasi - Jalas
—slegii - gl ()
S a3 s
—6M\§M—5)lui @

-1 PO -5
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33- If you know that octanoic acid is fatty acid | <bstSo¥f jaes ol coale f3) =YY
and its main component of Coconut oil. kw3 9Sall 98 ias yiaras
So All the follwoing are from its isomer gl yg Ca
except: 1ae Lo 4f o9l Tbo Lee JSB
@ Hexyl ethanoate. S gl Ol g3l @
@ pentyl propanoate. e g3l g o @

@ butyl butyrate.
@ butyl pentanoate.

Jhisediotise @)
MEPRIRT €

34- The following scheme represents the

reactions of iron and its oxides at the

OMeLad s gy AL dalaseadl -¥E
By plall 8 ouwlSTy st

suitable conditions: 1LY dculiad
Sait | C2H204 Fe dil  [Tsar
o HSO, ~ LE&°
No.airl A A
H H
A | —2 B|———|C
500°C 250°C
Which of the following choice O il AGY) O HLasa N (i
illustrate (A), (B), (C)? $(A) «(B)«(O)
the choice (A) (B) ©)
@ Fe,0, FeO Fe,0,
@ FeO Fe;0, Fe,0,4
@ FeO Fe, 0,4 Fe;0,
@ Fe,0, Fe,0, FeO
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35- From the following scheme (the £l | e I datasadl (o -V
reactions occurred at the suitable scwliad| Ch g pat! 8 Mo Lt
conditions):

. (1) (2) -\
oy — " 1CaCh |—— 5 oaelcw)
White Precipitate White Precipitate

l(?’)
oAl Gl

White Precipitate
The compounds (1), (2) and (3) are ... ‘ 3855 (3) ¢ (2) (1) ELS patt 2
@) (1):Pb(NO,),, (2):NaHCO,, (3):Na,SO,
® (1):Na,SO,, (2):NH,NO;, (3):K,S0,
(© (1):AgNO;,  (2):(NH,),CO;, (3):Na,S0,
@ (1):AgNO,, (2):K,S0,,  (3):KHCO,
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36- (1L) from Calcium chloride solution 9IS Jglme (e (11) s -1
(0.3M) is added To (1L) of sulphuric (IL) 31 (0.3M) agewtisy
acid (0.4M). Then barium hydroxide (0.4M) lin y8 e e
1s added to neutralize The excess acid A S gyt Jglone ol @
forming precipitate. e B3lajdt Atslact agaldl
So number of moles from excess acid Sie OB - Cowly HgSEa (et
and mass of formed precipitate are where | atsy (51331 jaemtl O¥ g0
molar mass: ... RURNYCEFeY PN (RPN {

s Al gt JISH 5y Lale

H,S0,=98 , Ba(OH),=171 , BaSO,=233
@) 02mole 46.6¢
(b 0.1mole 93.2¢
(© 0.lmole 233¢
@ 03mole 69.9¢

37- If you know the Ionization censtant (Ka) | paest(Ka) mlittcoliglcwte 3 =YV
for monopratic Weak acid = (5.1 X 107%) | golud 539,01 golai aais

and its conc. = (0.2 M) in solution its (0.2M) 238,54 (5.1 X 10°%)
volume is (200 ml) . (200ml) dass Jglome 2
So number of dissociated moles equals: ... | ... :¢glu ASSaalt S¥ gall e 12

@ 0.04 X 102 mol
® 1.01 x 1073 mol
(©) 5.05%102mol
@ 2.02 x 1073 mol
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38- The molcular formula (C_H, ) represents. |duwi (CsHjg) wdjadl danall -¥A
Three Saturated aliphatic hydrocarbons | wdladi iog)Sgyus cls,e w330
Compounds. o dadie
(A) does not contains methyl groups. ena Oile gamma e g ¥ 1(A)
(B) Contain only one methylene group. | suslyubies i gema ol 5123 :(B)
(C) Contain only one methyl group. Bl e 2 gas ohe i :(C)
The right arrangement for these OIS yall altgh presuaall e 21 3f
Compounds according to their activity is: ... v 150 ol Ay s
@) A<C<B.
® A<B<C.

(©) B<C<A.
@ C<A<B.
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39- Cell potential formed from element (X) (X) puaic (yo 45950 auls aga -4
and standard hydrogen electrode = 0.280 V | = bl (> g yuuglt clady
Cell potential formed from element (X) [(0.280V)
and element (Y) =2.095 V (X) puaic (o 2 g% 2l g
When putting element (Y) in solution of ‘(2',09§V) 9 .(Y)f“""‘f 4
element (X), no reaction takes place. s "3( )"‘452&”3 e
Then the potential of the cell formed elad il ¥ () yunial]

(e AgSalt At g OB
from element (Y) and standard i 93l idady (Y) pmiaie
hydrogen electrode equals ... e (G 9hucy LG

@ -2375v. (b 2375V (© 1815V (@) -1815V

40- On adding excess of caustic soda to a AgISI 13 guall pa 3 409 dBLS|) Lie - € »
mixture from (1 mole) ethylene glycol Sublo¥ e (1mol ) e dads M
and (1 mole) of catechol. .J9SG 1831 e (1mol) g J oS
So the compounds which are present (=2 339> gall OIS yalt 12
in the solution are: ... coe @B Jolonall

ONa
@ CH,-OH ONa
| - NaOH,,, -
CH, - OH
ONa
® clst -ONa ONa
CH, - ONa
OH
© CH,-ONa OH
| - NaOHaq -
CH, - ONa
ONa
@ CH, - ONa OH
CH, - OH
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41- (X), (Y), (2) are three insecticides: 10 pde Ol A3M3 Z Y X - €0
(X) 1s organic contain less number of 31 e (S g g Sgae :(X)
carbon atoms. L099,SI1 O3 (ye St
(Y) inorganic. 3o pui(Y)
(Z) 1s ugliest Compound in chemistry. leasS S po il 1 (2)
Which of the following choice is correct? | dssws 46% O1)LasY gla

Xy Y) )
@ acetifz acid magnesium sulphate gamixane
low! paes e Ol 48 Olusol
@ formic acid copper sulphate DDT
Clie )93 pae ould Gl 8
@ gamixane copper sulphate DDT
Olusal ould Sl 8
@ formic acid magnesium sulphate gamixane
lia )93 oo e Sl »S OlusSol>
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42- From the following scheme: I dalasatt (e ~£Y
(l)H
CH, - CH - COCH
+ +
CH,OH CH,COOH
B A
Which of the following choice is correct? |$asusue A g O yLas Y sia
@ Compound (A) does not cause Gy ¥ (A) LS el @
effervescence on adding sodium Gl ga,S ALl e (1192
carborate to it. Al p g3 guat
@ Compound (B) form acetamide on walin g0 (B) s ol @
ammonolysis of it. AT g yalandt sl e
@ Compound (A) remove the violet 08t doj (A) Syl @
colour of acidified potassium A gl g0 Sliomicn yy
permanganate. PI-VCN {r FE-A |
@ Compound (B) remove the violet O8d Juje (B) s watt @
colour of acidified potassium 2 9wl 9.0 Oolimio
permanganate. Audomel| domwaid]
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43- If you know that the solubility product | -3 ¥ duol> o coale 1) - €Y

= 21 . .
of zinc sulphide , K_=1 x102, and its K1 X102 Gm st
e e (97g/mol) 4F A gl ALSI

25° C &yl a
then the mass of zinc sulphide which i iy s S AL 31
dissolve in 100 g of pure water is: ... ceri (B A ¢ Latl (101009 8 9l

@) 6.034x 10-10g

(b 31.6x 1012

© 2x102g
(@ 3.067 x 10-10g

molar mass is (97 g/mol) at 25° C

44- On passing a aquantity of electricity 296 B o ST (g B 1 ol e -8 8
through molten magnesium nitride, (48 g) | o (482) cou 5 pswidladi i 20
from magnesium is ppt. at cathode: IS i p g Let
So The volume of nitrogen gas evolve at | delaid! ju g yidd! jLe pa (10
(s.t.p) at anode is: ... .oe 198 36%1 wie (S.T.P) 2
Where [N=14 , Mg=24] (Mg =24 N =14) sl ke

@) 1493L
(b 224L
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45- From the following graph which A8 Mall s gy (Aleddf @ 31 - €0
illustrate the relation between magnetic | aad L wdoliaedfajatl po
moment and some cations of first a_gLa:a“:u AWl Ol gsis
transition series in sequance: fe i e ST oY

utlaLiat! p jatl

A Magnetic Moment

AELY juoliall Sl g.GIS
Cations of Transition

> Elements
D3+ B3* A3* C3* E3*
Deduce: + i
1- Magnetic properties for cations B®", D | cs.5180 aadaliaalt algndi - \
2- The Cations which their elements are .B6* . D

used to decrease activation energy. Lo puslic ot 301 b gl ¥

dacddid a8l Ldas 3

46- From the following schemes: A Ollatas oYl fye -€1

Laa simplest aliphatic Cla/u.v 9! ( A) KOH(aq) /A _ (B)
ladiosSame  hydrocarbon -HClI - -KClI -

sl simplest aromatic Cly/cat. - ( ) KOHaq)/P/A _ ( )
Flagsiossaae  hydrocarbon -HClI s -KClI -
deduce: 1 !

1- The product from reduction of Both (D), (B).|.(D) «(B) (s i;s Il gl - |
2- Effect of adding hydrochloric acid to both | <l 5189 )gti e 23l 31 - ¥
(B), (D) separatelly. B e (D) ((B) sop0 JS A
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